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Find the supremum of the set § = {2 —% /n € N}.

s={2-2/nenlat cBfor qFm T

If f:R —> R such that f(x) = ax+b Vx € Rwhere a # 0 and b are real
constants, then findf ~1(a + b).

fiR>RAR f(x) = ax+bVx ER AR a # 097 b GfC TIT £$IF T
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If f(x) = 1+ x%and g(x) =1+ x? + (1 — x)* then prove that

f(x) = g(x) but lim f(x) = lim g(x).

f)=14+x2 R gx)=1+x2+1—-0)*2@ @FT T f(x) < gkx)
ﬁ@)}irr}f(x) = xli_{nlg(xﬂ

If f(x) = xsin (i), x#0

=0, x=0
Prove that f(x) is continuous for all x.
f(x)=xsin%, x#+0

=0, x=0
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If y = x%log, x prove that y; =32—C

y =x*log,x X@ (M & y3=§
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If f(x) = 4x3 + x? — 4x — 1 then prove that f(x) satistfies all the conditions
of Rolle’s theorem on the interval [—1, 1].

flx) =4x®+x* —4x—1 E @F J (x), @EE STNMWE FNI
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X —x_
Applying L’Hospital’s rule to find the value of lim $—5——2¢%% _ 5

x-0 xsinx

eX+e *-2cosx

drred IEE TR N9 (@9 FF9  lim

x—-0 xsinx

Find the region of validity of the expansion of log, (1 + x) as

2 3 4 n
x_x_+x__x_+...+(_1)n—1x_+...
2 3 4 n

2 3 4 n
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If f(x,y) =

xzxj’yzwhenx2+y2¢0=0 whenx =0=y

Then prove that £,(0,0) and £,(0,0) exist but f(x,y) is not continuous at
(0,0).
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Find the pedal equation of the parabola y? = 4ax w.r.t. point (a, 0).

y? = 4ax SEJER (a,0)F9F GG (T ANFa Aoy F2pa1

2 2
Find the equations of the asymptote of the hyperbola of % - % = 1.
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a? b2

Find the envelope of the family of straight lines y = mx +%, m+*0, m

being parameter.
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Prove that in the curve x3 + y3 — 6xy = 0, origin is a node.

T PP (T , x3+y3 —6xy =097 96 @G|

Prove that the curve y = log, x is convex with respect to x axis if 0 < x < 1.

WA (T y =log, x THENMN x AT WO Tad 3@ IM 0<x <1
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Find the radius of curvature of the catenary y = cosh (g) at any point (x, y).

y = cosh (i) IFEAMA (x,y) e el I @47 T4



